FAF 2Bl I3FERSLEY ¥ 287 B% MPE | ge e
Fiii: Fo
5L P s RIS TIE | § B
R =% P F 5044 | #BEN (Miags OFwes GEED
&K RE i N R
- ~ERR (FHLL £ 404)
1 1 1
1. ( ) * a=2 Ma’+a*+a’=? (A7 B (©6 (D)
- 3,3 4512 r _ 8 5 1 5
2. C ) #(N@2) =2 0ir=2 N7 ®B7 ©-; O
3. ( ) #0<a<l- Rl y=a" B2t T A it e A R Y
(A)g y#h>(0,1) (B) & X #hera b = (C)d =@ ikt A
Lok o ot gt o
(D)& y=(5) ST Ay
4( )aaz\/g’bZQ/Z_’C: 5J§ d= 256’51,‘2’;§'£m'<“5§1/ﬁ’:é?
(A)d <a<b <c (B)c <b <d <a (C)b <d <a <c (D)a <c <b <d
5. C ) #x=log7 plmslegrm? (AN7'=3 @)3F=7 ©Ox'=3 Ox=7
6. ( ) Floga=—1276 hk# s ? (A)0.724 (B)0.276 (C)—0.724 (D)—0.276
7. () Trlktrgrm?  (A)log,(-2)=1 (B)log,5=log,2+log,3
log,5
(C) g3 |Og:2 (D) log,,10—-log,, 2 =1log,, 5
8. () TrIHEFEFLA? (Alog,4 (B)log,;10 (C)log;2  (D)log;(-9)
9. ( ) #log, 7—log,1+5%%° + 4% ;g 2 (A) 14 (B)16 (C)18 (D)20
10. ( ) % 1095103 c7% #c 2 M » 10g0.000321 7% dc 5 N » P MN i 5 2

(A)-6 (B)-9 (C)-12 (D)-16

~H AR (151 FR 445 £ 604)

)y

1
1. .ﬁ(0.027)§+(%js -
32
7 <4
2. & =7 pjr=

)




3. ¥ait®0afd# Faral=5" fal+al=
3x -3x
4, ¥a¥=3:'a>0 X:9#" E!'J%:
a“—-a
‘ 500 27 3
5. klog,, T +log,, £ —log,, % =
1
6. Hlo 3+log,125—-log,, — =
0y /3 +log, 9 705
s 1
7. #log,, x=—="Rlx=
3
8. Flog,7xlog,11xlog,, 27 =
9. & log, 64 _
log, 2
10. 4 (logs 9+log,; 3)(log,125—log, 25) =
11. % log,2=a -~ log,,3=b » i1z a - b % 5% log,120=
12. xa=log,,2 > b=log,,3 - C:IogO_Z% > d =Iog0_2% »RBla~b cehr JER G
1 20
13. @ 4rlog2=0.3010 > pJ (5) ol BB e
14. & s log3 =0.4771 » P 9% &_ =¥
15. @ rlog2=0.3010 » &% & 2" >107 2 & BF#Nz &
A5
N
FL® © e gy =N
- ~HFEH (1035 5344 £ 404)
1 2 3 4 5 6 7 8 10
S BAE (5% FR4L £ 604)
1 2 3 4 5
6 7 8 9 10
11 12 13 14 15







